Wilcor's Most Wanted List





MARSHMALLOW STICK 120 PC/DSP CMP1708D

Buy 1 display @ \$138.00 120 per display, cost \$1.15 each, sell @ \$1.99 each.

LED FLASHLIGHT 9 BULB

\$2.35each, sell @ \$4.99 each.

Alkaline batteries included.

Buy 1 display @ \$37.60

16 per display. Cost

16/DSP

MSC2885



ROASTER FORKS METAL 4PK 33in CMP1704 Buy 72 @ \$2.25 each, sell @ \$4.49 each. Special buy 24 @ \$2.25 each.

LED GLO BRIGHT 9 BULB

Buy 1 display @ \$44.00

each, sell @ \$4.99 each.

16 per diaplsy. Cost \$2.75

Alkaline batteries included.

16/DSP

MSC2887



JIFFY POP 4.5oz 24/CS CMP1659 Buy 1 case @ \$33.36 24 per case. Cost \$1.39ea. Sell @ \$1.99ea.

LIFE GEAR STICK LIGHT 24/DSP

SPR0577

sell @ \$5.99 each.

Batteries included



RAINBOW FLAME STICKS 48/DSP CMP1518 Buy 1 display @ \$62.40 48 per display. Cost \$1.30 each, sell @ \$2.49 each.



MYSTICAL FIRE 50/DSP CMP1519 Buy 1 diaplay @ \$40.00 50 per display. Cost \$.80 each, sell @ \$1.49 each.



LADIES FLIP FLOPS WIDE STRIPES **SPR0884** Buy 36 @ \$1.95 each, sell @ \$3.99 each.



GIRLS FLIP FLOPS WIDE STRIPES SPR0880 Buy 36 @ \$1.90 each, sell @ \$3.99 each.





HOU0230 Buy 1 display @ \$27.60 24 per diaplay. Cost \$1.15, sell @ \$1.99 each.



FREE STYLE GOGGLES SPR0815 Buy 72 @ \$1.25 each, sell @ \$2.99 each. Special Buy 24 @ .85¢



DELUXE YOUTH GOGGLES SPR0814 Buy 72 @ \$1.25 each, sell @ \$2.99 each. Special Buy 24 @ .85¢

Buy 36 @ \$2.40 each, sell @ \$4.99 each. Camping Lantam

HANDLE

CMP1669

FIRESIDE POPCORN SAFETY

CAMPING LANTERN-MINI 4 LED MSC2862 Buy 9 @ \$2.85 each, sell @ \$4.99 each. Alkaline batteries included.







Buy 1 display @ \$85.92 24 per diaplsy. Cost \$3.58, Batteries included.



FLASHING LITE UP MOUTH SPR0549 Buy 24 @ \$1.35 each, sell @ \$2.49 each.



SHOT BLASTER WATER WARRIOR SPR0054 Buy 36 @ \$1.45 each, sell @ \$2.79 each.





Wilcor's Most Wanted List

These Are The Top Performing Items Across The U.S.



Premier Quality **GOOGLY BAND ASST 24/DSP** item # 3 NEW2003 \$20.40 24 packages of 12 per display. Cost per pack .85¢ each. Sell @ \$1.99 each.



PUFFER BALL ASST LIGHT UP 12/DSP item # 1 SPR0566 \$13.80 12 per display. Cost \$1.15 each, sell @ \$1.99 each.



PEACE BRACELETS ASST item # 36 GFT2204A \$0.90 Sell @ \$2.99 each.



Outdo

ASST 36/DSP item # 1 GFT2204 \$47.55 36 per display. Cost \$1.32, sell @ \$2.99ea



216 per display. Cost \$0.92 each, sell @ \$2.99.



FRIENDSHIP BRACELET W/DANGLES 12/BL item # GFT2458 \$10.56 12 per bundle. Cost \$0.88 each, sell @

\$2.99.

item #

GFT4453 \$17.40

sell @ \$2.99 each.

1

12 pens per diaplsy. Cost \$1.45 each,



POP ROCKS XTREME ASST 48/BX item # 1 CND0007 \$11.52 48 per display. Cost \$0.24, sell @ \$0.39 each.



SODA POP 6/PK FIZZY 12/DSP item # 1 CND0009 \$10.80 12 per display. Cost \$.90 each, sell @ \$1.49 each.



GIANT JAWBREAKER 24/DSP item # 1 CND0266 \$23.76 24 per display. Cost \$0.99 each, sell @ \$1.59.



WILLIE BEAR PLUSH 8" item # 12 **GFT0780** \$3.95 Sell @ \$7.99 each.



TOY STORY MAGIC INK BOOKS ASST item # 12 **BKS0053** \$2.39 Sell @ \$3.99 each.



MAD LIBS ASST 50 item # BKS0065 \$2.10 Sell @ \$3.99 each.







MADOLIBS

00



FRAME CLASS A MOTORHOME item # 6 GFT3902 \$8.25 Sell @ \$14.99 each.









DOTZA/ SPRAYZA KIT ASS1 item # 24 BKS0013 \$3.90 Sell @ \$6.99 each.





FRAME 5TH WHEEL CAMPER item # 6 GFT3901 \$7.35 Sell @ \$13.99 each.

www.Wilcor.net

Wilcor International, 161 Drive In Road, Frankfort NY 13340 Phone: 800-346-2345 ext 707 -Fax: 315-733-3215 Email: Sales@wilcor.net

Includes **6** Refills

July Specials



For a complete list of July specials Call 800-346-2345 ext: 707 & we will Email you!



CMP0395s page 43 HIKER DOME TENT 2 PERSON 7ft X 5ft SPECIAL BUY 8 @ \$20.95 EACH



CMP1606s page 116 PLASTIC F/K/S 24CT. SPECIAL BUY 48 @ .68¢ EACH



CMP0419s page 41 TARP POLY 8'X10' GREEN SPECIAL BUY 15 @ \$2.95 EACH CMP0420s TARP POLY 10'X12' GREEN SPECIAL BUY 10 @ \$4.78 EACH CMP0436s TARP POLY 12'X16' GREEN SPECIAL BUY 8 @ \$7.38 EACH CMP0438s TARP POLY 12'X24' GREEN

SPECIAL BUY 4 @ \$11.48 EACH



CMP0640s page 13 COTTON DELUXE HAMMOCK SPECIAL BUY 4 @ \$21.90 EACH



 CMP1713s
 page 106

 FLAT CAMP GRID 12X24"
 SPECIAL BUY 12 @ \$5.45 EACH



CMP0433As page 55 REPEL WATER REPELLENT SPECIAL BUY 12 @ \$2.35 EACH



CMP1916As page 133 CUTTERS BITE MD FOR KIDS SPECIAL BUY 12 @ \$1.25 EACH

CMP0456s page 56 HOLDIT PLASTIC TENT STAKE 12"+ SPECIAL BUY 100 @ .43¢ EACH





CMP1934s page 131 CUTTER INSECT PROTECTION 22/DSP SPECIAL BUY 1 DISPLAY @ \$63.80



CMP1206s page 68 LANTERN DBL MANTLE W/CASE SPECIAL BUY 4 @ \$22.90 EACH



CMP1948As page 132 CUTTERS FAMILY 11oz SPRAY SPECIAL BUY 12 @ \$2.95 EACH



CMP1591As page 18 COLLAPSIBLE UTILITY BIN SPECIAL BUY 24 @ \$4.95 EACH



CMP1971s page 132 CUTTERS ADVANCED WIPES 20CT SPECIAL BUY 12 @ \$1.35 EACH

Wilcor International, 161 Drive In Road, Frankfort NY 13340 Phone: 800-346-2345 ext 707 - Fax: 315-733-3215 - Email: Sales@wilcor.net -

July Specials



For a complete list of July specials Call 800-346-2345 ext: 707 & we will Email you!



FSH0535s page 154 SUPER NET (FOR FISH/FROGS) SPECIAL BUY 24 @ \$2.35 EACH



GFT0770s page 423 FLOPPY PUPS ASST SOOO SOFT SPECIAL BUY 12 @ \$4.95 EACH



HOU0254s page 127 MOUSE TRAPS TWIN PACK SPECIAL BUY 36 @ .79¢ EACH



MSC0622s page 226 WATERPROOF CAMERA 27EXP SPECIAL BUY 10 @ \$4.95 EACH



HOU0259s page 53 CLOTHES LINE COTTON 50FT SPECIAL BUY 24 @ .99¢ EACH



MSC2304s page 240 MENS BROWN JERSEY SPECIAL BUY 24 @ .59¢ EACH



HOU0356s page 109 BBQ SCRAPE/BRUSH WOOD HNDL 15" SPECIAL BUY 12 @ \$2.25 EACH



MSC2605s page 224 PREMIUM PLAYING CARDS SPECIAL BUY 24 @ .89¢ EACH

MSC2710s page 77 BATTERY ENERGIZER ALKA 2-D



CMP1805As noncat 2010 CITRO BUCKET 28oz 6/cs SPECIAL BUY 2 @ \$23.70 EACH

MSC0507Ms

MSC0507Ss

TOOTHBRUSH MEDIŬM

TOOTHBRUSH SOFT

ECIAL BUY 36 @ .55¢ EACH

SPECIAL BUY 36 @ .55¢ EACH



SPECIAL BUY 24 @ \$2.99 EACH MSC2712s BATTERY ENERGIZER ALKA 2-AA SPECIAL BUY 24 @ \$1.68 EACH MSC2713s BATTERY ENERGIZER 4 AA SPECIAL BUY 24 @ \$2.98 EACH MSC2714s ENERGIZER BATT ALKA 2-AAA SPECIAL BUY 24 @ \$1.68 EACH MSC2717s BATTERY ENERGIZER ALKA 4AAA SPECIAL BUY 24 @ \$2,98 EACH

SPR0501s page 313 GLOW STICKS 2pk 4" ASST. 72/BX SPECIAL BUY 1 BOX @ \$48.00





page 234



MSC0621s page 226 POLAROID CAMERA W/FLASH DISPOSABLE SPECIAL BUY 12 @ \$3,45 EACH

 SPR0502s
 page 313

 GLOW STICK 6" ASST. 72/BX

 SPECIAL BUY 1 BOX @ \$48.00



Wilcor International, 161 Drive In Road, Frankfort NY 13340 Phone: 800-346-2345 ext 707 - Fax: 315-733-3215 - Email: Sales@wilcor.net